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The Wordle Game

1.Guess a five letter word.
2.You have six tries.

3. A correct letter in the correct position will be
shown in GREEN.

4. A correct letter, but in the wrong position
will be shown in GOLD.
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The Words
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Our Challenge

. Develop an alphabetic grid such that . . .
. When an unknown word is tested against a known word . ..

. The grid notes the letters known by their location (Green)
and the letters used but in an unknown location (Gold).

. The purpose is to sequentially improve the grid as a model of
the unknown word(s).



Empty Report Grid

Letter Usage Allowed Required
A B ... aaaa.
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Test Example

create =unknowvn z,"" ACCBE™
create =guess Z, HABLCLCD™



Outer Loop

build-table { -—- )
setup? By-Letter ;

Bu-Letter { —— )
L 8 do 1 do—-green loop
L 8 do i do-gold loop
L 8 do i do-none loop



Result Green

Letter Usage Allowed Required
A 2 ... A....

Known location, Green

/

Unknown ACCBE HBCCBE
=>
LGUuess ABCCD 1BCCD



do-green logic

For the i-th position
Compare the i-th guess letter to i-th unknown letter
If equal ‘or® the Usage byte by *“2°
Put 5FF into the Required field i-th byte.
Cancel the i-th guess and i-th unkown letters
to prevent repeated comparisons.
Then



do-green code

: do—green { position —-—- )
dup =*unknown + cl@ —-alpha
ouer **[uess + cld —-alpha dup rot =

if dup 2 or-usage
FFh 2pick Z2pick Required* write-field
8 Zpick s*=unknown + c?
1 2pick =xguess + ct
then
2drop



Result Gold

Letter Usage Allowed Required
A 2 ... A....
B 1 B.BBBE  .....

Used, Unknown location, Gold

\

Unknown ACCBE HCCBE
=>
LGUuess ABCLCD 11CCD



do-gold logic

: do-gold { position —-—- )
Get this letter’s grid position
OQuer 5 uknown letters
Compare the guess letter to the i-th unknouwn
If equal
If first use, set 5 bytes in the
Allowed fField to 5FF
Or “1* into the Usage byte
then
Set the Allowed byte for this letter to “@°
Cancel this guess and i-th unkouwn
letters to prevent repeated comparisons.
leave then
loop



do-gold code

: do—gold { position -—- )
dup ==*guess + cld -alpha
L 8 do dup =*unknown i + cl@ -alpha =
if dup read-usage 1 and B=
if { first use)
FFFFFFFFh over Allowed* locate-field H
FFh over Allowed* locate-field 4 + ct
dup 1 or-usage then
8 over Allowed* locate-field 3pick + c!?
ﬂ s*unknown i + c?t
1 2pick #=*guess + ct
leave
then

loop Z2drop



Result Green & Gold

Letter Usage Allowed Required

A 2 aaa.. A....
B 1 B.BBB  .....
C 3 CCC.C -.C..

[\

Two locations, Gold & Green

/

Unknown HACCBE HBABE
=>
LGUuess ABCCD 1111D



Result Tested & Unused

Letter Usage Allowed Required
A 2 ... A....

B 1
C 3 CCC.C -.C..
D L

Tested and unused

Unknoun HACCBE HOABE
=>
LGUuess ABCCD 1111D



do-none logic

: do-none { position —-—- )
test the i-th guessed letter
if the holds an asclii letter (>=A)
it has not been used
‘or® a $4 into the usage bhyte.
then



do-none code

: do-none { position —-—- )
**Uuess + cl@ dup
ascii A >=
if -alpha 4 or-usage else drop then ;



Result Untested

Letter Usage Allowed Required
A 2 ... A....

m = o0 W

\ Untest{

Unknown ACCBF HBHABE
=>
LGuess ABCCD 1111D



A Sample Analysis of ‘BEACH’

Letter Usage Allowed Required

A 2 aa..- --A..
B 1 -BBBB  .....
C 1 CCC.C .....
D 5
E h s aaaa.
F 5
H h s aaaa.

Unknown SCABS SH0805
=>
LGuess BEACH 1E11H



August Forth Challenge

Build on our tool set to create a Wordle solver.
Accept data from files.

—ormat for analysis.

Perform the analysis
Report the solution.



